
x u

−
g‡ = ∗a +

t
b∗u

Y [
x
−
a + ∗ub
Y [

t

ζ
−
a +

−
ζ

Y [

ζ
−
a +

−
ζb

Y [

= ∗a +
t
b∗u

Y [
x
−
a + ∗ub
Y [

LHS = ∗a
t
ζ +

t
b
∗
ζ

Y [

ζ
−
a +

−
ζb

Y [

= ∗a
= x

t
ζζ
Y[

−
a + ∗a

= x∗u

t
ζ
−
ζ

Y[

b +
t
b

= ∗ux

∗
ζζ
Y[

−
a +

t
b

= ∗ux∗u

∗
ζ
−
ζ

Y[

b

= ∗ax
−
a + ∗ax ∗ub +

t
b ∗ux

−
a +

t
b ∗ux ∗ub = RHS

{x
∗

−1

T u (g)
Y [

∼g (u)
X Z

x} = {
<

T u (g)
X Z∧g (x)
Y [

∗

−1

T u (g)
Y [

∼g (u)
X Z <

T u (g)
X Z∧g (x)
Y [

} =
<

T u (g)
X Z

{ ∧g (x)
∗

∼g (u)
X Z ∧g (x)}

γ
z

=
0 z
∗z 0

γ
z

(w) = z − w ∗z w

2 ∧γ
z

(
ζ

t
ζ
)

= ∗z
−
ζ

t
ζ + ζ

∗
ζ ∗z

γR
z

=
1 1
i −i

0 z
∗z 0

1 −i
1 i

=
z + ∗z i (z − ∗z)

i (z − ∗z) −z − ∗z
=

α β
γ δ

α + iγ = z + ∗z
Y [

− z − ∗z
Y [

= ∗z

β + iδ = i z − ∗z
Y [

− i z + ∗z
Y [

= −i ∗z

iγ − δ = − z − ∗z
Y [

+ z + ∗z
Y [

= ∗z

β − iα = i z − ∗z
Y [

− i z + ∗z
Y [

= −i ∗z

∧γ
z

(
ζ

t
ζ
)

= γ
z
· ζ

Y [

t
ζ + ζ

t

γ
z
· ζ

X Z

= ∗zξ − i∗zη
Y [

t
ζ + ζ

t
ξ ∗z − i tη ∗z
Y [

= ∗z ξ − iη
Y [

t
ζ + ζ

t
ξ − i tη
Y [

∗z

∧γ
z

(u) = ∧γ
z

(
ϑ

t
ϑ
)

= ∗z
−
ϑ

t
ϑ + ϑ

∗
ϑ ∗z = ∗z ∗uu + u ∗u ∗z = { ∗z ∗uu}



∧γ
z

(x) ∗ux + x ∗u ∧γ
z

(x) − 2x
∗

uzuX Zx = ∗z ∗u x∗ux
Y [

+ x∗ux
Y [

∗u ∗z

∧γ
z

(x) = ∧γ
z

(
ζ

t
ζ
)

= ∗z
−
ζ

t
ζ + ζ

∗
ζ ∗z = ∗z

−
ϑ

2
λ

t
ϑ + ϑ

2
λ

∗
ϑ ∗z

x ∗ux = ϑ
2
λ

t
ϑ

Y [

−
ϑ
∗
ϑ

Y[
ϑ

2
λ

t
ϑ

Y [
= ϑ

2
λ

t
ϑ
−
ϑ

Y[

∗
ϑϑ
Y[

2
λ

t
ϑ = ϑ

4
λ

t
ϑ

∧γ
z

(x) ∗ux + x ∗u ∧γ
z

(x) = ∗z
−
ϑ

2
λ

t
ϑ + ϑ

2
λ
∗
ϑ∗z

Y [

−
ϑ

∗
ϑϑ

2
λ

t
ϑ + ϑ

2
λ

t
ϑ
−
ϑ

∗
ϑ ∗z

−
ϑ

2
λ

t
ϑ + ϑ

2
λ
∗
ϑ∗z

Y [

= ∗z
−
ϑ

2
λ

t
ϑ + ϑ

2
λ
∗
ϑ∗z

Y [

−
ϑ

2
λ

t
ϑ + ϑ

2
λ

∗
ϑ ∗z

−
ϑ

2
λ

t
ϑ + ϑ

2
λ
∗
ϑ∗z

Y [

= ∗z
−
ϑ

2
λ

t
ϑ
−
ϑ

2
λ

t
ϑ + 2ϑ

2
λ

∗
ϑ ∗z

−
ϑ

2
λ

t
ϑ + ϑ

2
λ

∗
ϑϑ

2
λ

∗
ϑ ∗z = ∗z

−
ϑ

4
λ

t
ϑ + 2ϑ

2
λ

∗
ϑ ∗z

−
ϑ

2
λ

t
ϑ + ϑ

4
λ

∗
ϑ ∗z

∗z ∗u x∗ux
Y [

+ x∗ux
Y [

∗u ∗z = ∗z
−
ϑ

∗
ϑ ϑ

4
λ

t
ϑ

Y [
+ ϑ

4
λ

t
ϑ

Y [

−
ϑ

∗
ϑ ∗z = ∗z

−
ϑ

4
λ

t
ϑ + ϑ

4
λ

∗
ϑ ∗z

∧γ
z

(x) ∗ux + x ∗u ∧γ
z

(x) − ∗z ∗u x∗ux
Y [

− x∗ux
Y [

∗u ∗z = 2ϑ
2
λ

∗
ϑ ∗z

−
ϑ

2
λ

t
ϑ

x
∗

uzuX Zx = x ∗u ∗z ∗ux = ϑ
2
λ

t
ϑ

Y [

−
ϑ
∗
ϑ∗z

−
ϑ
∗
ϑ

Y [
ϑ

2
λ

t
ϑ

Y [
= ϑ

2
λ

t
ϑ
−
ϑ

Y[

∗
ϑ ∗z

−
ϑ

∗
ϑϑ
Y[

2
λ

t
ϑ = ϑ

2
λ

∗
ϑ ∗z

−
ϑ

2
λ

t
ϑ

x
∗

∼γ
z
(u)

X Z

x = x
∗

z − u∗zu
Y [

x

∼γ
z

(u) = u ∗uz + z ∗uu − u ∗z u − u
∗

u∗zu
Y [

u = u ∗uz + z ∗uu − u ∗z u − u ∗uz ∗uu

= ϑ
∗
ϑz + z

−
ϑ

t
ϑ − ϑ

t
ϑ ∗z ϑ

t
ϑ − ϑ

∗
ϑz

−
ϑ

t
ϑ

x
∗

∼γ
z
(u)

X Z

x = ϑ
2
λ

t
ϑ

∗
ϑ
∗
ϑz + z

−
ϑ

t
ϑ − ϑ

t
ϑ∗zϑ

t
ϑ − ϑ

∗
ϑz

−
ϑ

t
ϑ

Y [
ϑ

2
λ

t
ϑ = ϑ

2
λ

t
ϑ ∗zϑ

∗
ϑ +

−
ϑ

t
ϑ∗z −

−
ϑ
∗
ϑz

−
ϑ
∗
ϑ −

−
ϑ

t
ϑ∗zϑ

∗
ϑ

Y [
ϑ

2
λ

t
ϑ

= ϑ
2
λ

t
ϑ ∗z ϑ

∗
ϑϑ

2
λ

t
ϑ + ϑ

2
λ

t
ϑ
−
ϑ

t
ϑ ∗z ϑ

2
λ

t
ϑ − ϑ

2
λ

t
ϑ
−
ϑ

∗
ϑz

−
ϑ

∗
ϑϑ

2
λ

t
ϑ − ϑ

2
λ

t
ϑ
−
ϑ

t
ϑ ∗z ϑ

∗
ϑϑ

2
λ

t
ϑ

= ϑ
2
λ

t
ϑ ∗z ϑ

2
λ

t
ϑ + ϑ

2
λ

t
ϑ ∗z ϑ

2
λ

t
ϑ − ϑ

2
λ

∗
ϑz

−
ϑ

2
λ

t
ϑ − ϑ

2
λ

t
ϑ ∗z ϑ

2
λ

t
ϑ = ϑ

2
λ

t
ϑ ∗z ϑ

2
λ

t
ϑ − ϑ

2
λ

∗
ϑz

−
ϑ

2
λ

t
ϑ

x
∗

u∗zu
Y [

x = x ∗uz ∗ux = ϑ
2
λ

t
ϑ
−
ϑ

∗
ϑz

−
ϑ

∗
ϑϑ

2
λ

t
ϑ = ϑ

2
λ

∗
ϑz

−
ϑ

2
λ

t
ϑ

∧γ
z

(x) ∗ux + x ∗u ∧γ
z

(x) + x
∗

∼γ
z
(u)

X Z

x = ∗z ∗u x∗ux
Y [

+ x∗ux
Y [

∗u ∗z + 2x
∗

uzu
Y [

x + x ∗z x − x
∗

u∗zu
Y [

x


